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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 

onall 	December, 2014 

ONR-001 : INTRODUCTION TO WATER 
HARVESTING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. Use of calculator is 

permitted. 

1. (a) Why is water harvesting important for 
human survival in the present scenario ? 	5 

(b) Distinguish between water stress and water 

scarcity. 	 2 

(c) Why are most urban areas of the country 
faced with the water scarcity problem 

particularly in summer season ? 	 3 

2. (a) Define irrigation efficiency and irrigation 
intensity. What is the present value of 
irrigation efficiency and irrigation intensity 

in our country ? 
	

2+2 
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(b) What is water harvesting ? Describe its 

concept. 	 2+1 

(c) Name various factors influencing choice of 

water harvesting system. 	 3 

3. (a) Define per capita water availability. What 

was the average per capita water 

availability in the country during 2001 and 

what is the projected average per capita 

water availability in 2025 ? 	 2+2 

(b) What is the percentage of fresh water in 

lakes, rivers, groundwater and glaciers ? 

Explain with the help of neat diagram. 	4 

(c) What is the principle of rain-water 

harvesting ? 	 2 

4. (a) What do you understand by the term dark 

area, in terms of groundwater exploration ? 

How is rain-water harvesting helpful in 

recharging groundwater aquifers ? 	2+3 

(b) What does ITK stand for ? List any four 

water harvesting structures used in 

Karnataka, Gujarat and Rajasthan, giving 

at least one in each state. 	 1+4 

5. (a) Define Watershed Management. Explain 

the concept of watershed management with 

the help of a neat flow diagram. 	 2+3 
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(b) What does DPAP stand for ? When was it 

initiated ? Describe the objectives of DPAP. 

In how many districts/blocks, is it being 

implemented ? 	 1+1+3 

6. (a) Explain the reasons for Indian agriculture 

being likely to face serious challenges for 

sustaining agricultural growth in the years 

to come. 	 2 

(b) Why is bottom-up approach needed for 

effective implementation of watershed 

development projects ? 	 3 

(c) Describe the concept of watershed 

management with the word "power". 	5 

7. (a) Why is natural resources survey an 

important activity of a watershed project ? 

Explain. 	 5 

(b) What is a PRA ? Enumerate any four points 

that must be kept in mind before carrying 

any PRA exercise. 	 1+4 

8. (a) Using a schematic diagram, explain 

institutional 	arrangements 	for 

implementing watershed development 

projects. 
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(b) Write short notes on any five of the 
following : 	 5x1=5 

(i) Venn diagram 

(ii) Rainfed 

(iii) Biodiversity 

(iv) Watershed Development Team 

(v) Drought 

(vi) PRI 
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